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Listening Test
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You will hear part of a radio report about a reporter's visit to a small village.
For questions 9 - 18, complete the notes which summarise what the
speakers say. You will need to write a word or a short phrase in each box.

You will hear people talking in eight different situations. For questions 1 - 8,
choose the best-answer, A, B or C.

You are watching this quiz show on TV. The contestant is answering questions on

A history. 1
B current affairs.
C  geography. L
You are thinking of going to watch a football match but you are not sure what to
wear. You phone the weatherline, hear this message, and decide Lo wear
A aT-shirt and shorts,
B araincoatl. 2
C  awarm coat with gloves and scarf.
You hear this item on the radio news. The painting by Titian has been
A lost
B stolen. 3
C found.
You are booked on flight TA 2041 to New York and you are waiting in the depar-
ture lounge at Heathrow Airport when you hear this announcement. You go to
A the exit.
B gate 20. 4

C  hospitality suite B.

You hear these two people talking. They are
A brother and sister.
B husband and wife.
C friends.

This telephone call is overheard. It takes place in
A atheatre booking office.
B an airline booking office.
C  atravel ugency.
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In this conversation, Maria is asking George
A towrite her essay.
B toread her essay. 7
C o help her with her essay.

You averhear this conversation when you are travelling on

A aplane
B abus 8
€ alrain
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You will hear five holidaymakers talking about their holidays in North
America. For questions 19 - 23 choose from the list A - F which statement
applies 1o which speaker. Use the letters only once. There is one extra letter
which you do not need to use.

This speaker did not do any sightseeing,

This speaker spent too much money.

Speaker 1
This speaker made an unusual discovery. Speaker 2
ker 3
This speaker’s luggage was lost. Spesker
Speaker 4
This speaker had something stolen.
Speaker 5

This speaker had an accident.
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Marston-under-Moor has green fields and I
A sociologist believes it is divided by |
Not all of the villagers are Major

Wentworth's

An example of the village working

together is the

Mrs Squire is the village's ‘

The butler used to wake Mrs Squire l

up with

Everyone addressed Mrs Squire as
They don’t do that now because
everyone is

The last physical class division
is found in

The labourer is working in the
village to
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You will hear a conversation between Mrs Adams, her son Brian and a
neighbour, Mr James. For questions 24 - 30, choose the best answer, A, B

or C.

24 Who does Mr James want to speak to?
A Mrs Adams.
B Brian.
C  Neither of them.

25 What does Mr James want to speak about?
A A fight outside the bakery.
B Anamusing event.
C  An incident involving Brian.

26 How is Mr James sure it wes Brian he saw?
A He recognized Brian's jacket.
B He recognized Brian’s orange hair.
C  Brian was standing underneath a street light.

27 Brian wants to leave his mum out of the argument because
A his mother is too tired to discuss the matter.
B he is ashamed of what he has done.
C  he thinks he’s old enough to fight his own battles.

28 Why is Mr James particularly bothered by what he saw?
A Several neighbours were injured as a result.

B He believes that it will cause tension in the neighbourhood.

€ He thinks it will lower the tone of the neighbourhood.

29 Why does Mr James decide to drop the matter?
A He realizes he should mind his own business.
B He realizes that he is not going ta win the argument.
€ He realizes it wasn't Brian's fault.

30 What is the relationship between Mrs Adams and Mr James?
A They are relatives,
B They are neighbours.
C  They are colleagues.
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